B-Arabinose (COqH)9g Structure:
AB2C_0P80.19_5a_10a_5a-001

This structure originally had the label AB2C_oP80_19_5a_10a_5a. Calls to that address will be redirected here.
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Prototype CH-0

AFLOW prototype label AB2C_oP80.19_5a_10a_5a-001
Mineral name arabinose

CCDC 1100220

Pearson symbol oP80

Space group number 19

Space group symbol P2:212¢

AFLOW prototype command aflow --proto=AB2C_oP80_19_5a_10a_5a-001
--params=a, b/a,c/a, 1, Y1, 21, T2, Y2, 22, T3, Y3, 23, T4, Y4, 24, T5, Y5, 25, L6, Y6, 265 L7+
Y7, 27, X8,Y8, 28,19, Y9, 29, 10, Y10, 2105 L11, Y11, #11, L12, Y12, 212, T13, Y13, 213, L14, Y14, 214, L15,
Y15, 215, L16, Y165 216, L17, Y17, 217, L18, Y18, 218, 19, Y19, 219, L20, Y20, 220

e The CIF provided by the CCDC uses a non-standard setting of space group P21212; #19, but uses the coordinates
provided by (Hordvick, 1961). This produces a somewhat different structure than we present. We find no evidence that
(Hordvick, 1961) used a non-standard setting, and our interatomic distances agree with the published numbers, so we will
use the standard setting.

Simple Orthorhombic primitive vectors
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coordinates coordinates position type
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Bg = (1‘24-%) al—(yg—%) as — 25 as a(xg—&—%)fi—b(yg—%)y—czQi (4a) CII
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By = —(za— 1) a1 —ysar + —a(zg—3) X —byag+c(za+3)2 (4a) CIV
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Bis = (za+3)ai—(ya—3)ax—zas a(za+3)x—bya—3) §—cuz (4a) C1v
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B7s = — (w20 — 3) a1 — Y202z + = —a(z0—3) X—byo¥ +c(z0+3) 2 (4a) oV
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